
Quiz 3-1

𝑈𝑈 = 3 V,𝑅𝑅1 = 2 kΩ,𝑅𝑅2 = 1 kΩ

What is the voltage 𝑈𝑈1 across resistance 𝑅𝑅1? 

This quiz is about 
voltage divider circuit.
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Quiz 3-2

𝐼𝐼 = 3 mA,𝑅𝑅1 = 2 kΩ,𝑅𝑅2 = 1 kΩ

What is the current 𝐼𝐼2 flowing on resistance 𝑅𝑅2? 

This quiz is about 
current divider circuit.
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Quiz 3-3

𝐽𝐽𝑁𝑁 = 3 mA,𝑅𝑅N = 0.5 kΩ

Derive the Thevenin’s equivalent current source 𝐸𝐸T and 
resistance 𝑅𝑅T of the following circuit.

=

This quiz is about 
sources transforms.



Quiz 3-4

Connect a resistor 𝑅𝑅3 = 1 kΩ as a load of the following two 
circuits and derive current  𝐼𝐼3 for each of the two circuits. Do 

we get the same 𝐼𝐼3 for the two circuits?

This quiz is about 
sources transforms.

𝐽𝐽N = 3 mA,𝑅𝑅N = 0.5 kΩ

𝐼𝐼3 𝐼𝐼3

Connect a 
load here!

Connect a 
load here!

𝐸𝐸T = 1.5 V,𝑅𝑅T = 0.5 kΩ



Quiz 3-5

𝐸𝐸 = 4 V, 𝐽𝐽 = 1 mA,𝑅𝑅1 = 𝑅𝑅2 = 1 kΩ

Derive the Norton’s equivalent current source 𝐽𝐽N and 
resistance 𝑅𝑅N of the following circuit. 

This quiz is about 
sources transforms.



Quiz 3-6

𝐸𝐸 = 4 V, 𝐽𝐽 = 1 mA
𝑅𝑅1 = 𝑅𝑅2 = 1 kΩ

We analyze the following circuit when a resistor 𝑅𝑅3 = 1 kΩ is 
connected as a load.

What is the current 𝐼𝐼3J when turning off the voltage source 𝐸𝐸?

𝐼𝐼3J

This quiz is about 
superposition.



Answers

• 3-1: 2 V
• 3-2: 2 mA
• 3-3: ET = 1.5 V, RN = 0.5 kOhm
• 3-4: 1 mA
• 3-5: JN = 3 mA, RN = 0.5 kOhm
• 3-6: -1/3 mA
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